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1. System Test Response

Category Partition Testing Result

Timer
Test12 — 1013.2031.3034 Fail Timer 2§ OF E.
Test13 - 1013.2032.3033 Fail Timer Z5 O E.
Test14 — 1013.2032.3035 Fail Timer &5 O E.
Test15 - 1013.2033.3043 Fail Timer Z§ O E.
Test16 — 1013.2033.3032 Fail Timer 2§ ¢t E.
Test17 - 1013.2033.3034 Fail Timer 2§ O E.
Test18 — 1013.2034.3033 Fail Timer 2§ O E.
Test19 — 1013.2034.3035 Fail Timer 2§ O E.
Test20 = 1013.2035.3131 Fail Timer 2§ O E.
Test21 — 1014.2041.3041 Fail Timer 3§ O E.
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KHAIZH Al IR ECH20| 31Ho| 20[X| et= §2| EAMZ 25l Efo|H 2|
AHE0| 23| ol EltEls EXME wW7dsHICt et EFolmH el
countdownHAE0|M 1 Hlg w745t EXNME sHESHULCE.
Buzzer
' | £7] SE0ME buzzer?t B2, & W gE DAY
Test29 - 1015.2054.3051 Fail » " "
off £ ong $t 5| buzzer?t S2|X %8.
| gralg Onoffgt &0l X7t 22[X| &=
e Z7| HEHOIMH A7 28 FH, 8t H 23S 117L} off Bt & CHA| on S
o=, buzzer7t & 25528 A EE +=HF.




- Brute Force Testing Result

Description

i Timer/StopwatchO| Al count ofj=1 CI2 9CE HAE o cad
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CiAl ZtE U Timer?| S4 sl=XA A
. Calculate caloriesOf|A] 23:590{|A] 24:00 H0{7t = 5
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2-3 | D+dayOflA| H=0| AAXE 2HMEA BA Pass
FitnessO| A| Default 2O = S [ R 551A] L =X
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Check 3-2 | At HIEE U D+day AlLH0] HYHC = v =A| Fail
S A
- FitnessOfl A| 12 T©H?l YOIO|E AU 25 T5& fai
HIE 2 0§ Calories Al4t= M= Sk=A] A}
2A Timer/StopwatchOll M countE & & CHE 2= #HE & CHA| Timer7|S22
Sotgt2 W Timerel S 0| &|X| &S
ol Timer R{A[Z Al 7|5 &A™ E7t
CHE timer2| countdownH|AE7} runEl F2E{ MBET7I SRE|Z| K| loopE
breakdtX| RI=S A =E $+H3QALCH.
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oS Elo|d RHAIZH Al HK{7} 22IX| et EXI7F AR 2Lt countdownH A E
EME HZastn & HX7I HAESSIQ cr




=A D+DayZ|s0M S 82 stLt F7t 8t F, setTimekeeping2 &3l D+Day = Ct
Ol UM 2 HHHE I S gfo| Lt2Ct,

CHS D+Day0ll M LS MM =1, set TimekeepingS Sl A
D+Day 2t S4 Hl4HStCt.

BHoF set Timekeeping2 S3HA TRl ™ E D+Day M M EC} 0TS 2
B33t Z42(D+Day M ™7t Ol ™7t B Z32), D-Day #S
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2. Static Analysis Response

- Test Case Refactoring

assertE20| g1 test method0l| assert2 S F 7135104 code coverage S

=ict,
2 code coverage HME 7} O St
cHe setter FE = void& M| A E 9] test method0l| A assert20| §ie A &0l

E method0f| assert2& F 7}l FULCE.
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Id updateFitn
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- =2 Bug

33HelB
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thread(-wait,notify 2] AF), while 22| At&0]| CHE bug7} B 0|
2 A 51 AL,

= ALEStR| = field2| EXY
this.dayhum = m_:gtalendar.;et(talerwdar'.DAY_OF;I;UEEKJ,‘
this.day = dayName[dayNum - 1];
this.is_stop = false;
R
Unread field: watch Timekeeping.get_signal 12daysago v 128 %
& Bug @ Major O Open Notassigned 30min effort ® performance
start();
e AN83HX| et field 25 AA| | class DiagramOll = B3 QACH
A ZH2 K| 2&f2 & 0| operandd| AHE E|RACH.
sleep(cycle * 60 * 1000 - tine value * 1060);
(Cast one of the operands of this subtraction operation to a long". 6oaysago v L6 %
& 8ug © Minor O Cpen Not assigned 5min effor W basec-on-misra, cert cwe, overflow, <a..
CHE orar2 3o 2 casting 5 F UL
2x o|T &l FER It {2t T whileR20l 2 =748 doqof strt.
Add an end condition to this loop. 5days ago > 1126 %
& Bug @ Blocker O Open Not assigned 15min effort W cert
CHE catch£20l QIE{HE 7} M7|™H whileB 2 HHXLI 7= S F 7161 F AL
ion e) {




2x multiple lockO| &+ 435} X| ot =& 3l oF&tC}.

tW synchronized public void countUp() {
outerloop:
while(true) {

el SYSEEM. QUL DI

[ if (is sto
s Sys println("is stop= FHFL");
R econd++;

if (this.second == 66) {

Ihis.second

this.minute++;

AN ARSI

if (this.minute == 6@) {

Ihis.minute

his.hourt;

WM. Thread.sleep(10e0);
J.catch (InterruptedException ) {

000 Auto-generated catch block

....2:printstackTrace();

5 stop == true

ynchronized (this)

Y,

_//System.out.println("wait”);

CHE synchronized public void countUp()LH5 2| synchronized(this){ } E&2
R|F ALt

{(Interrup

00 Auto




S| O|E x| &f

this wait();

Refactor the synchronisation mechanism to not use a Thread instance as a monitor 12 daysago~ L197 %
# Bug Minor O Open Not assigned 30min effort

W multi-threading

Unconditional wait in watch.Fitness.countUp()
# Bug

12 daysago~ L197 %
Minor O Open Not assigned 1h effort .

i Method watch.Fitness.countUp() calls wait, notify or notifyAll on a Thread instance 12daysago~ L197 %
% Bug Minor O Open Not assigned W multi

i S3%EN. (InterruptedException e) {

// TODO Auto-generated catch block
‘ e printStackTrace();

CHE is_stop, is_pauseZt= condition variableg &35t04 wait()2 EE35tT5 37|
HZ2ol A7 45k K| 2f S Zdolct.

Zt 7|sotch stLbel AP =R ARo| E|7| mEof| &£ CHE ABI=7t oL E
EXl= gdstx| b Zolct.

Ls =2 A




DBManager

ol
-
1

._I_

2A statementE =&t £ closeE 3l|F040f &l

try {

Use try-with-resources or close this “Statement” in a "finally” clause. 6daysago > L372 %

& Bug @ Blocker O Open Not assigned Smin effort

Ensure that resources like this Statement object are closed after use

% Bug @ Critical © Open Not assigned 10min effort

Statement = on.createstatenent();

Use try-with-resources or close this "Statement” in a "finally” clause. 6daysago > 1373 %

# Bug @ Blocker O Open Mot assigned 5Smin effort

I
e

Ensure that resources like this Statement object are closed after use 6 days ago * L3

& Bug @ Critical O Open Not assigned 10min effort

statement.execute(createTableQuery);

statement_2.execute(createTableQuery 2);
} catch (SQLException e) {

e.printStackTrace();




- CodeSmell (Critical, Blocked)
Critical

ZHED try/catchE0| SHE|{/JUE FEEF =0i 2|8t code

smell2X|7} B 0| ‘& &3t ALt

= s A H o = = S
ZA ZeHA Lo M 8 H=0f Z2 StringS S5 AHSE
OoF status 0l A settingE CHE THo{Z HESOFE Al 0| HHZR
X7t 2rdstot
private int hour = 8;
private int minute = @;
private int second = 8;
int settingMum = @;
private String timer_status = 1 Lésttiﬂg:;
Define a constant instead of duplicating this literal “Setting" 6 times. 5days ago~ L46 %
& Code Smell @ Critical O Open Not assigned 14min effort W design
o >~ . AN B St i — = AN = o
CHS FIHHQl finalHsE MUY L= QICtD MZstod =™K oS
= H =
2 switchZ0{ default case7} gALC}.
= i if (timer_status.equals("Setting") == true) {
= switch (settingNum) {
Add a default case to this switch. 12 days ago ¥ L1438 %
& Code Smell @ Critical O Open Not assigned 5min effort ¥ based-on-misra, cert, cwe
case O:
req_nextHour();
break;
case 1:
req_nextMinute();
break;
case 2:
req_nextSecond();
break;
i
o ~ =]
cHE default case& F 7| F UL
ctHour £
ctMinute ()




2A iffelse 201 else 7} EXHSIX| tS

} else if (fit status.equals(“Execute") == true) {
“if ... else if* constructs should end with “else” clauses. 6daysago > 1213 %
@ Code Smell @ Critical O Open Not assigned 5min effort @ based-on-misra, cert
04

if (is_pause == false) {
System.out.println("EHAHE");
is_pause = true;
base.controller.req_pause(“"fitness”);

} else if (is_pause == true) {
“if ... else if* constructs should end with “else” clauses. 6daysago > 1219 %
@ Code Smell @ Critical O Open Not assigned Smin effort W based- ert

System.out.println("HZHE");
base.controller.req_continue("fitness");

is_pause = false;
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View 28

S| HAE/dExte| R F 274 S sio

s
B.addActionlistener(new ActionlListener() {
@0verride
public void actionPerformed(ActionEvent e) {

The Cyclomatic Complexity of this method "actionPerformed™ is 33 which is greater than 10 authorized.

& Code Smell @ Critical O Open Not assigned 33min effort

6 daysago v L150 %

®b

if(buzzer _mode == true) {
Buzzer.getInstance().stopBuzzer();
i
else{
3 if (alarm_status.equals("List") == true) {
System.out.println(“List");
alarm = base.controller.reqg_alarmlist();
if (alarm == null) {
ol ElIss e

A& 3tALCt.

MEHE 4712 H-IEOHA-I ofc] el CHEr A S CH=H +
Ct
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FEFOER BESHRIE QB Choloj ol HIchs I T
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CHE ActionListnerH| &2 =0 Bt 2 S™El ifE 1t try/catch, switchE =

Minor Code Smell2A|

=X fieldE 2223t public@ 2 MAFLCE.

public class Alarm extends Thread {
private int hour, minute, cycle;
private boolean status = true;
private ArraylList<{Integer> checkDaylList;
private int daylListNum;
private int[] dayList = {1, 2, 3, 4, 5, 6, T}; //=AHHE 28+
private InstManager inst;
private Timekeeping time;
private Timer tm;
private int cycleCount = @;
private boolean is_delete = false;

Buzzer buzzer;

Explicitly declare the visibility for "buzzer".
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Blocked

Test @A 0| QR HAEO|M assertB AFS35X| fobA] M7l B[}
gfo| WAt oM A28 code coverage2tT HHE EXIUS.

Add at least one assertion to this test case.

12 daysago v L22 %

& Code Smell @ Blocker O Open Not assigned 10min effort W tests
Add at least one assertion to this test case. 12 daysago~ L42 S
& Code Smell @ Blocker O Open Not assigned 10min effort W tests
Add at least one assertion to this test case. 12 daysago * L51 %
& Code Smell @ Blocker O Open Not assigned 10min effort ¥ tests
| Add at least one assertion to this test case. 12 days ago > L60 S
& Code Smell @ Blocker O Open Not assigned 10min effort
Add at least one assertion to this test case. 12daysago~ 169 %
& Code Smell @ Blocker O Open Not assigned 10min effort W tests
Add at least one assertion to this test case. 12 daysago~ L78 %
& Code Smell @ Blocker O Open Not assigned 10min effort W te
= old = =Tl = o
=2 2/ & test method 0l assertE 0| ZXH5HX| LS

e 1097H 2] test method0l| CHSH 25 assert2 2 F 7t F=ACH




3. OOPT Review
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